





JUSTITY yOUr answer.
(c) Determine the optimal value of o that minimizes MAPE,

12-26 A provincial credit union has been growing steadily since it
was established in 1961. Deposits have increased slowly but
surely over the years, despite some years when the econ-
omy has been sluggish. To help develop a strategic plan,
management at the credit union wants to develop a one-
year forecast of deposits. Historical data for deposits from
the inception of the credit union in 1961 up until 2004 are
shown in the table above. The table also shows the provin-
cial GDP for the corresponding years.

(a) Using three forecasting models: (1) exponential
smoothing with o= 0.6, (2) trend analysis, and (3) lin-
ear regression, discuss wh1 “h fo recastmg model ﬁts
best for the credit union’s strate J ‘why
one model should be.

(b) Examine the data «
excluding a p. ;-?f'fff '
that change yout
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